06275 inch F##& 4% , SEETFM, %4

INCH 7= fn i BR
Parts W

BEFRE,
FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I
REZREY AL IE,

BEER
AEAERRELBRRELENFRE,

06275-2080XCN 80 0,312 26 16 31 218 x M6 x 40
06275-2080XCO 80 0,375 26 16 31 218 x M6 x 40
06275-2100XCO 100 0,375 31 17 34 218 x M6 x 40
06275-2100XCP 100 0,5 31 17 34 218 x M6 x 40
06275-2125XCO 125 0,375 30 18 37 221 x M8 x 50
06275-2125XCP 125 0,5 30 18 37 221 x M8 x 50
06275-2140XCP 140 0,5 34 19 34 221 x M8 x 50
06275-2140XCQ 140 0,625 34 19 34 221 x M8 x 50
06275-2160XCP 160 0,5 40 20 40 226 x M10 x 80
06275-2160XCQ 160 0,625 40 20 40 226 x M10 x 80
06275-2200XCQ 200 0,625 50 24 46 226 x M10 x 80
06275-2200XCR 200 0,75 50 24 46 226 x M10 x 80
06275-2250XCR 250 0,75 50 28 49 228 x M12 x 90
06275-2250XCV 250 0,875 50 28 49 228 x M12 x 90

© norelem www.norelem.com



